5.03.02

Lynch MANIFOLDS & VALVE PACKS

SPRP_05_SPSFUEE

Mounting Kits include the following:

"SP" UNC Kit:
2-3/8"-16 x 3.00" SHCS
I L 2N\ "SP" Metric Kit:
163 (- 2- M10-1.5 x 75 mm SHCS
. P
X Port for DOSH "SB" UNC Kit:
2.81-“y’fﬂ Y Port for DOSHE 2-3/8"-16 x 3.50" SHCS
5.00 wp RELIEF VALVE ..g,;.?:\;,‘g:_ic Kit:
‘ 4.63 o [ caviry 2- M10-1.5 x 90 mm SHCS
v a0 \ 2 - plugs
=
. & oe % "ST" UNC Kit:
E o 2-3/8"-16 x 3.50" SHCS
@ — | 800 N} et 4.63 — "ST" Metric Kit:
e g @) o 400 2- M10-1.5 x 90 mm SHCS
250 | 2.50 A o Oe _ P 2,50 i
typ typ o ; % 100
i de|O b ; o0 1 (See Page 5.99.01 for
R typ typ

Relief Cartridges)
163w .38«yp—Ll~— 631
2.25 typ 1.63 typ
3.63
DO5H(E) :'_ 28 o
XPTa _Tb B -
T

A Y Port for DOSH
I) " ' X Port for DOSHE

<

P
L5 --2X 1.62 | |
T O L4 1 250forspe, N
24 { 3.00 for SB { )
[ rﬂiy ; B 300 f‘or st i
I.i :
Pl 3G
-y
s SPRP_05_SBSFUEE - BOTTOM VIEW SPRP_05_STSFUEE - BOTTOM VIEW
3.63
U DO5H(E) 1.25 3.63 3/4" NPTF Port DO5H(E)
XPTa Tb B A Y XPTa Tb BA Y
B LN N N T Lo T LN N
P > 9--X 1.56 1.56 P 3-—X
L T g [ [ 5—A 2504 e | [N i —G—- T 4 A
A 24 { B € 2 [ B
r r -1 r r
E P Li?Q :L) G P — L{i?a :L; G
S f Ly [y
w/ p T o o r
C
I]é PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 12 Ports & T-3A Relief Example: SPRPA05SHSPSFUEE
C
VALVE RELIEF CAVITY AND PILOT PORT
¥ MATERIAL | - | PORTING STYLE | PORT coDE MOUNTING THREADS & KIT OPTIONS
3 e B L L L
S
Subplates Side Ported with UNC Std for | D05 Valve [1/4"-20 UNC x 0.75" dp

with Bottom P & T Ports

P to T Relief

SAE & NPT Subplate |3/8"-16 SHCS
Metric Std for | D05 Valve |M6 x 1.00 x .75" dp
BSP* & Metric | Subplate |M10 x 1.50 SHCS

Side Ported only
Side Ported with
L3N 3/4" NPTF "T" Port
I Aluminum on Bottom only =l Common C10-2
Dl Ductile Iron [SS Sun T-3A

SAE

- - - NOTE: As a Non-Standard Option, Subplates
NPTF 34 1/4 1/4 with no Pilot Ports can be ordered by using "05T"
BSPP 3/4" 1/4" 1/4" for Valve Pattern Code and replacing the "E" at

o o o the end of the Part Number with an "A". An
BSPT 3/4 1/4 1/ Example Part Number  would be:
METRIC M27 M10 M10 SPRPAO5STSPSFUEA

(USA Standard)
NFPA T3.5.1-D05 Alt B
ISO 4401-05-05 (EURO)
NFPA T3.5.1-D05 Alt A

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION
Lynch Products Can Be Modified to Suit Your Application

CANADIAN .:/'—g
FLUID NFPA F= g’-ﬁ
Page POWER Solutions through -
) ASSOCIATION % motion technology o P Rver i Woson toctootey Sointetors
8 8 ASSOCIATION CANADIENNE DEENEAGE FLUDE MEMBER




5.03.03
Lyllch MANIFOLDS & VALVE PACKS [l

DO5SH(E) High Flow Subplate w/Relief - Nominal 1”

SPRP_05_SPSHUGE
Mounting Kits include the following:
"SP" UNC Kit:
2-3/8"-16 x 3.50" SHCS
"SP" Metric Kit:
1.97 j_ 2- M10-1.5 x 90 mm SHCS
e 1.00
typ "SB" UNC Kit:
1 00 il ¢ iz:t‘ :g: gg::E 2-3/8"-16 x 4.50" SHCS
4 e 2- plugs
5.00 typ RELIEF VALVE "SB" Metric Kit:
[~——4.63 % —~ CAVITY 2- M10-1.5 x 120 mm SHCS
/— 2 - plugs
v EIO
op g "ST" UNC Kit:
¢ @ 0@ 2-3/8"-16 x 4.50" SHCS
5.00 P @] 4.63 "ST" Metric Kit:
@— _f wo m!g—OO o 4.00 2- M10-1.5 x 120 mm SHCS
250 | 2.50 & o Oe _| o 250
w | WP J— ° o % » 1700 (See Page 5.99.01 for
1 3850 » T o Relief Cartridges)
107w 38— 631
2.25 1.97 vp
3.63m
DOSH(E) ‘[:'—1.44 wp Y Port for DO5H
- - _ ] X Port for DOSHE
1.97 | |
3.00 for SP
4.00 for SB -
4.00 for ST
SPRP_05_SBSHUGE - BOTTOM VIEW SPRP_05_STSHUGE - BOTTOM VIEW S
3.63
DO5H(E) 1.44 3.63 1" NPTF Port DO5H(E) U
XPTa Tb B A Y Lo . 1o . XPTa Tb B A Y B
1.56 1.56 P
2.50 j_ _P_ _ L
| A
T
E
O O S
w/
C
PART NUMBER SYSTEM Aluminum DO5H Side Ported Subplate with SAE 16 Ports & T-16A Relief Example: SPRPA0SHSPSHUGE II!
C
VALVE RELIEF CAVITY AND PILOT PORT
MATERIAL | o\ [ PORTING STYLE | PORT CODE MOUNTING THREADS & KIT OPTIONS l]?
- 1 ! T
S
Subplates Side Ported with UNC Std for | D05 Valve [1/4"-20 UNC x 0.75" dp

Bottom P & T Ports SAE & NPT | Subplate |3/8"-16 SHCS
Side Ported only Metric Std for | DO5 Valve |M6 x 1.00 x .75" dp
Side Ported with 1" BSP* & Metric | Subplate [M10 x 1.50 SHCS

SIl NPTF "T" Port on
Bottom only

with
P to T Relief

(¢ Sun T-16A
/=3 Common C16-2

.M Aluminum

Dl Ductile Iron

SAE
" " " NOTE: As a Non-Standard Option, Subplates
(USA Standard) NPTF L 114 1 with no Pilot Ports can be ordered by using "05T"
NFPA T3.5.1-D05 Alt B BSPP 1" 1/4" 1/4" for Valve Pattern Code and replacing the "E" at
1SO 4401-05-05 (EURO) BSPT I 1/4" 1/4" the end of the Part Number with an "A". An
Example  Part Number would be:
NFPA T3.5.1-D05 Alt A METRIC | M33 | M10 | M10 SPRPAQ5STSPSHUGA

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

CANADIAN
FLUID NFPA
POWER Solutions through
Assoc|2-r|ou 7 motion technology Thre Fusiuse lin Motion, Pg %e

ASIOCIATION CANADENNE DENERGE FLUDE MEMBER




